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QUESTION 1

Click the Exhibit button. For the selected item, what two properties could the storage administrator use to create a
zone? (Choose two.) 

A. 20.00.00.1b.32.13.14.a7 

B. vmhba1.C0.T0.L1 

C. fc.2000001b321314a7.2100001b321314a7 

D. 50.06.01.60.c1.e0.65.22 

Correct Answer: AD 

 

QUESTION 2

Which virtual disk types are supported on an network attached storage appliance using NFS with hardware acceleration
disabled? 
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A. Flat disk 

B. Raw Device Mappings 

C. Thick Provision Lazy Zeroed 

D. Thin Provision 

Correct Answer: D 

 

QUESTION 3

An administrator has deployed vCenter Data Recovery and wants the largest possible deduplication store. Which three
storage options can be used? (Choose three.) 

A. Two CIFS shares 

B. Two RDMs on a FCP array 

C. One NFS mount on the ESXi host and one RDMs on an iSCSI array 

D. One CIFS share and one FCP RDM 

E. Two NFS mounts on the ESXi host 

Correct Answer: BCE 

 

QUESTION 4

Users have reported performance issues with an application running on a Windows VM. Performance analysis shows
high CPU activity on the ESXi host but low CPU activity on the Windows VM.A high value in which overview graph and
counter on the virtual machine\\'s Performance tab would confirm the results of the performance analysis? 

A. CPU (%) / Wait 

B. CPU Usage (Mhz) / Wait 

C. CPU Usage (Mhz) / Ready 

D. CPU (%) / Ready 

Correct Answer: D 

 

QUESTION 5

VMware Tools should be installed on which virtual machines? 

A. Linux 

B. All except Linux 
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C. Windows 

D. All 

Correct Answer: D 

 

QUESTION 6

What are three true statements about an integrity check in vCenter Data Recovery? (Choose three.) 

A. The operation is prevented from overlaping with the backup operations. 

B. The operation is scheduled separately form the backup schedule. 

C. An incremental operation can be manually started. 

D. The operation automatically pauses when the end of the maintenance widow is reached 

E. By default the operation does not run during normal business hours. 

Correct Answer: BDE 

 

QUESTION 7

The RDP performance for a virtual machine on an ESXi 5.x host appears to be degraded. What are two possible causes
of the problem? (Choose two.) 

A. The virtual machine has a high Ready value. 

B. The virtual machine\\'s network adaptor is not configured to Connect at power on. 

C. The virtual machine\\'s network adaptor is not configured as connected. 

D. The virtual machine is on a physical network that has become saturated. 

Correct Answer: AD 

 

QUESTION 8

Which two conditions will prevent a virtual machine from being successfully migrated using Storage vMotion? (Choose
two.) 

A. The virtual machine has an RDM. 

B. The virtual machine has Fault Tolerance enabled. 

C. The virtual machine is running on a vSphere 5.x Standard host. 

D. The virtual machine has a disk stored on an NFS datastore. 

Correct Answer: BC 
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QUESTION 9

An administrator is updating a program running on a virtual machine. The update file has been downloaded as an .iso
file and placed on a shared NFS datastore. An attempt to mount the .iso file to the virtual machine fails, but subsequent
testing shows that the .iso file can be mounted to a virtual machine running on another ESXi 5.x host. Which step can
be taken to enable access to the .iso file for the affected virtual machine? 

A. Reboot all ESXi hosts in the cluster where the affected virtual machine is running. 

B. Refresh all datastores on the ESXi host running the affected VM. 

C. Rescan all datastores on the ESXi host running the affected VM. 

D. Unmount the volume from the ESXi host running the affected VM, and then add as a new datastore. 

Correct Answer: B 

 

QUESTION 10

To prevent non-ESXi hosts from seeing VMFS datastores, which would be the most efficient place to configure LUN
masking? 

A. On the ESXi host 

B. On the SAN Storage Device 

C. On the non-ESXi hosts 

D. On the Fibre Channel Switch 

Correct Answer: B 

 

QUESTION 11

Which three modules are optional components that can be added from the vCenter Server installer? (Choose three.) 

A. VMware vCenter Syslog Collector 

B. VMware vCenter License Server 

C. VMware vSphere Authentication Proxy 

D. VMware vCenter Host Update Utility 

E. VMware vSphere Auto Deploy 

Correct Answer: ACE 

 

QUESTION 12
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What are three methods of adding VMkernel networking to a vNetwork Distributed Switch? (Choose three) 

A. A VMkernel Network adapter can be created and added to a standalone port. 

B. A VMkernel network adapter can be created along with a VMkernel port group on the selected vNetwork Distributed
Switch. 

C. A VMkernel port can be cloned from a vNetwork Standard Switch 

D. A VMkernel network adapter can be associated with a port group on a vNetwork Distributed Switch. 

E. A VMkernel port can be migrated from a vNetwork Standard Switch. 

Correct Answer: ADE 

 

QUESTION 13

An administrator is working to implement Storage Profiles in their environment. Which two ways can storage capabilities
be generated? (Choose two.) 

A. They are generated by Datastore Clusters as LUNs are added to the cluster. 

B. They are automatically determined by the Storage Profile when it is created. 

C. They can be retrieved from the array through the VMware APIs for Storage Awareness (VASA). 

D. They can be manually generated by the administrator. 

Correct Answer: CD 

 

QUESTION 14

What are two consequences of deleting a VMFS datastore from an ESXi 5.x host? (Choose two.) 

A. The datastore is inaccessible from all connected ESXi hosts. 

B. The datastore and all virtual machines are removed from the storage device. 

C. The datastore and all virtual machines remain on the storage device. 

D. The datastore is only removed from that specific ESXi host. 

Correct Answer: AB 

 

QUESTION 15

An administrator is responsible for enabling file access for desktop users. Many users have complained that they cannot
access their files. An alert in the vSphere Client states that the storage connectivity alarm for all hosts has been
triggered. The storage screen indicates that everything is connected, but the triggered alert has not been acknowledged.
Which action will correct the user access problem? 
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A. Rescan the storage on the file-sharing virtual machine on which the users are seeing the problem. 

B. Reconnect the storage containing the user files to all hosts in the cluster, then Refresh datastores on all hosts in the
cluster. 

C. Tell each user to reboot their computer. 

D. Reconnect the storage containing the user files to all hosts in the cluster, then Rescan datastores on all hosts in the
cluster. 

Correct Answer: D 
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